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QUESTION NO: 1

To maintain good read performance in a constantly changing database, which two components are used?

There are 2 correct answers to this question.

Response:

A. Column store

B. Memory store

C. Delta storage

D. Main storage

ANSWER: C D 

QUESTION NO: 2

Why do we still need a persistent layer?

There are 2 correct answers to this question.

Response:

A. To store data that has been unloaded from memory

B. To hold the delta store for newly arrived records

C. To enable full database recovery if we have a power failure

D. To store data that is frequently used

ANSWER: A C 

QUESTION NO: 3

You need to secure client-server communication using transport layer security. Which objects must you set up on the server 
side?

There are 2 correct answers to this question.

Response:

A. User certificate

B. Private key
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C. Root certificate

D. Server certificate

ANSWER: B D 

QUESTION NO: 4

Which of the following are characteristics of SAP HANA Smart Data Streaming?

Please choose the correct answer.

Response:

A. It uses databases queries.

B. It is a standalone product for use with any target system.

C. It acts based on combinations of events.

D. It provides reports and analysis on the received data.

ANSWER: C 

QUESTION NO: 5

Which prerequisites apply when you perform an SAP HANA database copy of a single tenant system?

There are 2 correct answers to this question.

Response:

A. The number and type of services on the target database can be different from the source database.

B. The restore point in time (PIT) of the target database is the same as or earlier than the source database.

C. The number of nodes on the target database is the same as or lower than the source database.

D. The version of the target database is the same as or higher than the source database.

ANSWER: C D 

QUESTION NO: 6

Which database administration tasks can you perform in SAP HANA cockpit 2.0?

Please choose the correct answer.

Response:
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A. Monitor table usage

B. Create a data snapshot of a tenant

C. Perform backup check

D. Troubleshoot an unresponsive system.

ANSWER: A 

QUESTION NO: 7

The administration console is pre-delivered by SAP. You can access the administration console in one of the following ways.

There are 3 correct answers to this question.

Response:

A. Choose the Administration button in the upper left corner

B. Choose the Administration button in the upper right corner

C. Double-click the system in the system monitor

D. Double-click the system monitor in the Navigator view

E. Double-click the system in the Navigator view

ANSWER: B C E 

QUESTION NO: 8

Which of the following privileges allow read access to data in SAP HANA information models depending on certain values or 
combination of values?

Choose the correct answer.

Response:

A. System Privileges

B. Object Privileges

C. Analytic Privileges

D. Package Privileges

ANSWER: C 
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QUESTION NO: 9

The SAP HANA memory pool CANNOT satisfy the memory requests for new queries. Where does the SAP HANA database 
request additional memory?

Please choose the correct answer.

Response:

A. Virtual memory

B. Physical memory

C. Standby memory

D. Resident memory

ANSWER: A 

QUESTION NO: 10

Which command can re-encrypt the system PKI SSFS with a new key?

Please choose the correct answer.

Response:

A. RSEC_SSFS_DATAPATH=/usr/sap//SYS/security/global/rsecssfs/data 
RSEC_SSFS_KEYPATH=/usr/sap//SYS/security/global/rsecssfs/key rsecssfxchangekey $(rsecssfxgeneratekey –
getPlainValueToConsole

B. RSEC_SSFS_DATAPATH=/usr/sap//SYS/global/security/rsecssfs/data 
RSEC_SSFS_KEYPATH=/usr/sap//SYS/global/security/rsecssfs/key rsecssfxchangekey $(rsecssfxgeneratekey –
getPlainValueToConsole

C. RSEC_SSFS_DATAPATH=/usr/sap//SYS/global/hdb/security/ssfs RSEC_SSFS_KEYPATH=rsecssfxchangekey 
$(rsecssfxgeneratekey -getPlainValueToConsole)

D. RSEC_SSFS_DATAPATH=/usr/sap//SYS/security/hdb/global/ssfs RSEC_SSFS_KEYPATH=rsecssfxchangekey 
$(rsecssfxgeneratekey -getPlainValueToConsole)

ANSWER: B 

QUESTION NO: 11

Which of the following actions can be audited by SAP HANA?

There are 2 correct answers to this question.

Response:

A. Changes to system configuration.
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B. Upgrade of an SAP HANA database instance.

C. Create or drop user, and create or drop role.

ANSWER: A C 

QUESTION NO: 12

What are prerequisites for changing the SSFS Master Keys?

There are 2 correct answers to this question.

Response:

A. You have the server root privilege INIFILE ADMIN

B. You have the system privilege INIFILE ADMIN

C. You have the credentials of the Operating system user adm that was created when the system was installed.

D. You have the credentials of the SYSTEM user

ANSWER: B C 

QUESTION NO: 13

SAP HANA system replication is configured and active between two SAP HANA systems. After which action must you 
perform manual steps to synchronize the systems?

Response:

A. An upgrade of the primary system

B. A restart of the primary system

C. An upgrade of the secondary system

D. A restart of the secondary system

ANSWER: A 

QUESTION NO: 14

What tool must you use to add an additional host to an SAP HANA scale-out system?

Please choose the correct answer

Response:
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A. hdbnsutil

B. hdbinst

C. hdblcm

D. hdbparam

ANSWER: C 

QUESTION NO: 15

Assume your current partitioning plan of SAP HANA is NOT optimal. Which option of the Manage Table Distribution tool do 
you use to evaluate if a partitioned table needs to be repartitioned?

Response:

A. Balance table distribution

B. Check the correct location of tables and partitions

C. Check the number of partitions

D. Redistribute tables after adding host(s)

ANSWER: C 
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